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Attempt all questions.

All questions carry equal marks.
Use of Simple Calculator is allowed.

ft got & I Argl
aoft goat & ol G &
AR Sgee T FAT AT T FH &

PTO.

Scanned with CamScanner



. (2) What do you understand by the term i mvestment?9 Wh

objectives should be kept in mind while investin gin secum

market? |
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(b) Explain market order with the help of an example, |
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Or (3raan)

(a) What is an IPO? Explain the process of Boolk'Building.
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(b) Illustrate the process of matchmg of orders in online tradin
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2. (a) Describe the procedure of placing an order and executic

' of a transaction.
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(b) Write a note on Bombay Stock Exchange. .
4 Wi T | U6 few fefa | '
Or (rgan)

The return in percentage on securities P and Q under differﬁlé

situations are given below:
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State Probability ~ Possible Returns (%)

of the of P 0
Market Occurrence |
Bear 3 9 7
Normal 4 .12 . 11
Bull 3 ' 15 28

Find out expected return and risk associated with both the

securities and which security should an invcstor choosc and

why.
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3. (a) Explain and illustrate how Profit and Loss Account can be

used to analyze the financials of a company.
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(b) What is NIFTY?

Prodt | 7 ’ :
Or (vrer) x
(a) What are various factors which affect the choice of rnumati-
funds?
R[S T8 ?ﬁr R Eﬁ‘r gefert Eh‘@r ar =T m
T 87 | ]
(b) Calculate EPS and PE Ratio: |
Net Profits After Paying Taxes - Rs. 15,00,00{:_
Equity share capital divided into ' | _
shares of Rs. 10 each T . 5,00,00{
Current Market Price 5 i g 7
EPS T PE 9T fHaiferg '
IR B A faw @ 7 15,00,000 B¢
ww‘ﬁrﬁﬁmm%aﬁﬁ?f S
- R 5,00,000 ¢

CI—

4. (a) What is support and resistance level in techhidal analysis|
'Explain its importance in stock selection process.
i Rrgder F Tl T SRR T T 8§
g AT UBRT § 39 e QARG | (

(b) Briefly explain some of the basic and advanced interactiv{

charts in stock analysw ,
e RE & §B iy @ S
el @ G A a9ARy |
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Or (GW)

(a) What is a mutual fund? What are the benefits of investing

. 2887

in mutual funds for a-small investor?
%ﬁmw%?w@%ﬁawﬁugmm
ﬁﬁﬁﬂ%mm@%%? 36
(b) AMutual Fund accumulated Rs. 30,00,000 by issuing 50,000
units in the beginning of a financial year. It invested Rs.
‘ 28,00,000 in the corporate securities. The present price of
these securities and the price at which the Mutual Fund
invested in these securities are given below :
Investment  Value at the Value at the | Income
T | b;gfnning end ;
Equity 10,00,000 12,00,000 - 1,50,000
Debentures ' 12,00,000 11,00,000 1,44,000
' The mutual fund incurred an expense of Rs. 50,000 during
the year. Find_thf_: NAV of the mutual fund at the end of

the year.
%n@mmﬁﬁmw%mﬁsoooo
Teal 1 BT e 30,00,000 BT T fohd | SER
98,00,000 B9 TRz whrgft # frawr R
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gl 10,00,000  12,00000  1,50,000

ENE] 112,00,000  11,00,000 144,000

s P.TO.
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Distinguish between call option and put option contract. EXp]ain
with examples as to how an investor should use ﬂ1§m to minimiz, :
the risk and maximize returns. ;
Fra few qar ge Ree gy 7 i @i,
FieTeT WSy Fve St & e & g é
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| or (wm)

(a) Explain currency derivatives.
" 3RAfT e e 6
(b)° Write notes on any three from the following :

(i) CRISIL

(i) MCX

(iii) NSE

(iv) P/E Ratio

(v) PEG Ratio

(v1) Price Revenue Ratio.

i i w feoqeft fafay -

() CRISIL '
() MCX

(i) NSE

(iv) P/E STt

(v) PEG AT

(vi) TF9 T ST | e o g
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